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1 49 x 73 = 1 L5 X 7Y
2 63 X 45 = 2 48 x 65
3 78 X Lé = 3 70 X N
4 553 X 47 = 4 §0 X 45
5 &7 X Sé = 5 7446 % /7
6 4L X /R = 6 L3 X S7
7 S/ X L/ = 7 7/ X A
8 L3 X /S = 8 45 X L&
9 4/ x LL = 9 7/ X &3
10 /3 X L/ = 10 b X 7L
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1 47 x 73 = 3,577 1 L5 X 74 = /6850
2 63 X 45 =  LEIS 2 48 x 65 = 3,/L0
3 78 X L6 = LOLE 3 70 X L3 = /670
4 53 X 47 = Y47/ 4 50 X 745 = 3,600
5 &7 X J6 = IL04 5 446 X /7 = 785L
6 4L X /L= 504 6 L3 X 37 = 577
7 S/ X L/ = 65/ 7 7/ X 4 = 5764
8 L3 X /3 = L77 8 43 X L5 = /075
9 4/ X LL = 702 9 7/ X 53 = 7,553
10 /3 X L/ = L7 10 6L X 7L = 85704




